Example 4a-5 - Determine the internal shear force and bending moment at a section to left of point D.

sl 15KN %
[11 /111 | T ! ADZM%fO=—%owm +H15k(Zm) +20k (5N - A (m)
) T Ay =25k

lm\}/m
T

A 2m————2m 2m Jr/tzi*:;:@:'A‘(*Bj“ ‘Bb\\”%h\\ &I:ZOb\\
Jus 1o THe LEFT O D
\1/4'1 1 A ®'21‘/\M o= M+ za LSW\)FZLSNGM)
[\ Zy % M lﬂ\‘
= to wi
B
20 U@L *TZFW o= Ay - 30k + 25k
. |
o { -5k )
it of D =M
s, Ve, SEM o “O"’MPK+ZON(‘ZM>
Z /[( \ U, - 4o kN m
S 2w = AN =,
20k Jz_t’:@é\fpnom \/]\ ___}// M=V

\1PL:-ZQN






